Вес одного выступления
10 : 14 = 0.714
Число выступлений                   Балл

1 х 0.714 = 0.714                          1
2 х 0.714 = 1.42                            1

3 х   «»    = 2.14                           2

4 х   «»    = 2.85                           3
5 х   «»    =  3.57                          4
6 х   «»    =  4.28                          4

7 х   «»    =  4.99                          5

8 х   «»    =  5.71                          6

9 х   «»    =  6.42                          6

10х  «»    =  7.14                          7
11х  «»    =  7.85                          8

12х  «»    =  8.56                          9
13х  «»    =  9.28                          9

14х  «»    =  9.99                         10
